
YG770−7
 

olv*3M- oder rgb*3M-Daten von Maximalfarben M der Systeme: ORS18, TLS18, NRS18, SRS18

 

Offset-Reflektiv-System: ORS18

a*r

b*r

olv*3,M,38=(1 0 0)

olv*3,M,96=(1 1 0)

olv*3,M,151=(0 1 0)

olv*3,M,236=(0 1 1)
olv*3,M,305=(0 0 1)

olv*3,M,354=(1 0 1)
 

olv*3,M,52=(1 0.24 0)
0.24=(52−38)/(96−38)

   

Fernseh-Licht-System: TLS18

a*r

b*r

olv*3,M,35=(1 0 0)

olv*3,M,103=(1 1 0)
olv*3,M,137=(0 1 0)

olv*3,M,196=(0 1 1)

olv*3,M,304=(0 0 1)
olv*3,M,328=(1 0 1)

 

olv*3,M,52=(1 0.25 0)
0.25=(52−35)/(103−35)

  

 

Natürliches Reflektiv-System: NRS18

a*r

b*r

rgb*3,M,25=(1 0 0)

rgb*3,M,92=(1 1 0)

rgb*3,M,162=(0 1 0)

rgb*3,M,217=(0 1 1)

rgb*3,M,272=(0 0 1)

rgb*3,M,329=(1 0 1)

 

rgb*3,M,52=(1 0.4 0)
0.4=(52−25)/(92−25)

   

Standard-Reflektiv-System: SRS18

a*r

b*r

olv*3,M,30=(1 0 0)

olv*3,M,90=(1 1 0)

olv*3,M,150=(0 1 0)

olv*3,M,210=(0 1 1)

olv*3,M,270=(0 0 1)

olv*3,M,330=(1 0 1)

 

olv*3,M,52=(1 0.37 0)
0.37=(52−30)/(90−30)

  


